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(1) R1¥IMEECE

r1(config)#ipv6 unicast-routing

r1(config)#int f0/0



r1(config-if)#ipv6 address 2012:1:1:11::1/64

rl(config)#int loopback 1

r1(config-if)#ipv6 address 3001:1:1:11::1/64

r1(config)#int loopback 2

r1(config-if)#ipv6 address 3002:1:1:11::1/64

r1(config)#int loopback 3

r1(config-if)#ipv6 address 3003:1:1:11::1/64

(2) R2AVJIHECE.:

r2(config)#ipv6 unicast-routing

r2(config)#int f0/0

r2(config-if)#ipv6 address 2012:1:1:11::2/64

r2(config)#int loopback 0O

r2(config-if)#ipv6 address 2022:2:2:22::2/64

2./ & MP-BGP H1 ] IPv6 4F J&



WH: rAANEIERWECE, H7 23] IPve 1) address-family R ¥ 4E & o

(1) £ R1 RECE BGP 4L /E
r1(config)#router bgp 100
r1(config-router)#bgp router-id 1.1.1.1
rl(config-router)#neighbor 2012:1:1:11::2 remote-as 100
r1(config-router)#address-family ipv6
r1(config-router-af)#neighbor 2012:1:1:11::2 activate
r1(config-router-af)#exit

(2) f£ R2 LACE BGP {B)F
r2(config)#router bgp 100
r2(config-router)#bgp router-id 2.2.2.2
r2(config-router)#neighbor 2012:1:1:11::1 remote-as 100
r2(config-router)#address-family ipv6
r2(config-router-af)#neighbor 2012:1:1:11::1 activate
r2(config-router-af)#exit
3.8 % IPv6 BGP &1 &

(1) #£ R1 _E&F I1Pv6 BGP ¥[JF
rl#show bgp sum
BGP router identifier 1.1.1.1, local AS number 100

BGP table version is 1, main routing table version 1

Neighbor \ AS  MsgRcvd  MsgSent TblVer  InQ
Up/Down State/PfxRcd

OoutQ



2012:1:1:11::2 4 100 5 4 1 0 000:01:35 0

rl#

we: HTECEIEM, AP IEH @57 IPve BGP AR &2 . fin4d show bgp

sum YRS AT 2 .
(2) #£ R2 _E&FE 1Pv6 BGP £i/E
r2#tshow bgp sum
BGP router identifier 2.2.2.2, local AS number 100

BGP table version is 1, main routing table version 1

Neighbor Vv AS  MsgRcvd  MsgSent TblVer  InQ
Up/Down State/PfxRcd

2012:1:1:11::1 4 100 5 6 1 0 000:02:02 0
r2#

BB BT ECE IR, BTLAC IR 7 IPve BGP A E 4
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(1)7£ R1 _ER A B H13% 1Pv6 BGP

r1(config)#router bgp 100

r1(config-router)#address-family ipv6
r1(config-router-af)#network 3001:1:1:11::/64

(2)7E R2 R A% B3 1Pv6 BGP

r2(config)#router bgp 100

r2(config-router)#address-family ipv6

r2(config-router-af)#network 2022:2:2:22::/64

OoutQ



(3} R1 & IPv6 BGP B H

rl#show bgp all

For address family: IPv6 Unicast

BGP table version is 3, local router ID is 1.1.1.1

Status codes: s suppressed, d damped, h history, * valid, > best, i - internal,
r RIB-failure, S Stale

Origin codes: i - IGP, e - EGP, ? - incomplete

Network Next Hop Metric LocPrf Weight Path
*>i2022:2:2:22::/64 2012:1:1:11::2 0 100 Oi
*>3001:1:1:11::/64 :: 0 32768 i
ris

DIl CRE S S BN T AR JE AR A 1Pve B H

(4)7£ R2 _-#F IPv6 BGP B&H

r2#show bgp all

For address family: IPv6 Unicast

BGP table version is 3, local router ID is 2.2.2.2

Status codes: s suppressed, d damped, h history, * valid, > best, i - internal,
r RIB-failure, S Stale

Origin codes: i - IGP, e - EGP, ? - incomplete

Network Next Hop Metric LocPrf Weight Path



*>2022:2:2:22::/64 :: 0  32768i
*>i3001:1:1:11::/64 2012:1:1:11::1 0 100 Oi
r2#

BE: LSl ) BN 7 A R ORI 1PV6 S

(5) WML ERME

rl#tping 2022:2:2:22::2

Type escape sequence to abort.
Sending 5, 100-byte ICMP Echos to 2022:2:2:22::2, timeout is 2 seconds:
Success rate is 100 percent (5/5), round-trip min/avg/max = 12/96/208 ms

rl#

r2#ping 3001:1:1:11::1

Type escape sequence to abort.

Sending 5, 100-byte ICMP Echos to 3001:1:1:11::1, timeout is 2 seconds:
Success rate is 100 percent (5/5), round-trip min/avg/max = 24/88/200 ms
r2#
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PEBA: RE R1_E AR W BLE ) A it IPv6 BGP
(1) 7£ R1 ERE B/ AFRl KR W Bt 1Pv6 BGP

r1(config)#route-map con permit 10

r1(config-route-map)#match interface loopback 2

r1(config-route-map)#exit

r1(config)#route-map con permit 20

r1(config-route-map)#match interface loopback 3

r1(config-route-map)#exit

r1(config)#router bgp 100
r1(config-router)#address-family ipv6
rl(config-router-af)#redistribute connected route-map con
(2) £ R2_ EEFE /A7 1Pv6 BGP HIFR M B
r2#show bgp all
For address family: IPv6 Unicast
BGP table version is 11, local router ID is 2.2.2.2
Status codes: s suppressed, d damped, h history, * valid, > best, i - internal,
r RIB-failure, S Stale

Origin codes: i - IGP, e - EGP, ? - incomplete

Network Next Hop Metric LocPrf Weight Path

*>2022:2:2:22::/64 :: 0 32768 i



*>i3001:1:1:11::/64 2012:1:1:11::1 0 100 Oi

*>i3002:1:1:11::/64 2012:1:1:11::1 0 100 0-
*>i3003:1:1:11::/64 2012:1:1:11::1 0 100 0°?
r2#

W PTLAE ], R1 )R N B R S 5 0 A i3E RIPng.
6.13 7 IPve BXH

VEA: 7E R2 it yEds 1pve B EH, HEHAERIMNEBL, fHEH] distribute-list X
e AL R T I g

(1) HEE R 3002:1:1:11::/64 B

r2(config)#ipv6 prefix-list abc permit 3002:1:1:11::/64

r2(config)#router bgp 100
r2(config-router)#address-family ipv6
r2(config-router-af)#neighbor 2012:1:1:11::1 prefix-list abc in

(2) EETIEHIBHRFRL

r2#clear bgp ipv6 unicast *

r2#sh bgp all

For address family: IPv6 Unicast

BGP table version is 3, local router ID is 2.2.2.2

Status codes: s suppressed, d damped, h history, * valid, > best, i - internal,
r RIB-failure, S Stale

Origin codes: i - IGP, e - EGP, ? - incomplete



Network Next Hop Metric LocPrf Weight Path

*>2022:2:2:22::/64 :: 0 32768 i
*>i3002:1:1:11::/64 2012:1:1:11::1 0 100 0°?
r2#

W B R AR B RN B, B e R
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WEH: IEHIEOCT, IPve BGP i f 4 R ht 27 48 fE, tHa] DLAD & 13 A 8%
P A bk N7 AR S

(1) £ R1 _EFEE 1Pv6 BGP F 4 B A< b b 32 37 4 /7
r1(config)#router bgp 100
rl(config-router)#neighbor FE80::C200:DFF:FEC8:0 remote-as 100
r1(config-router)#neighbor FE80::C200:DFF:FEC8:0 update-source f0/0
r1(config-router)#address-family ipv6
rl(config-router-af)#neighbor FE80::C200:DFF:FEC8:0 activate
r1(config-router-af)#

(2) 7E R2 R E 1Pv6 BGP FI#ERR Ak il 22 v/ 48 /7
r2(config)#router bgp 100
r2(config-router)#neighbor FE80::C200:8FF:FE10:0 remote-as 100
r2(config-router)#neighbor FE80::C200:8FF:FE10:0 update-source f0/0
r2(config-router)#address-family ipv6
r2(config-router-af)#neighbor FE80::C200:8FF:FE10:0 activate

r2(config-router-af)#



(3) BEESEELER
rl#show bgp sum
BGP router identifier 1.1.1.1, local AS number 100

BGP table version is 1, main routing table version 1

Neighbor \Y AS  MsgRcvd  MsgSent TblVer  InQ
Up/Down State/PfxRcd

FE80::C200:DFF:FECS8:0
4 100 6 7 1 0 000:01:30 0

rl#

r2#show bgp sum
BGP router identifier 2.2.2.2, local AS number 100

BGP table version is 1, main routing table version 1

Neighbor Vv AS  MsgRcvd  MsgSent TblVer  InQ
Up/Down State/PfxRcd

FE80::C200:8FF:FE10:0
4 100 8 7 1 0 000:02:20 0

r2#

outQ

outQ
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rl#sh bgp all

For address family: IPv6 Unicast

BGP table version is 14, local router ID is 1.1.1.1

Status codes: s suppressed, d damped, h history, * valid, > best, i - internal,
r RIB-failure, S Stale

Origin codes: i - IGP, e - EGP, ? - incomplete

Network Next Hop Metric LocPrf Weight Path

*>i2022:2:2:22::/64 FE80::C200:DFF:FECS8:0

0 100 Oi
*>3001:1:1:11::/64 :: 0 32768 i
*>3002:1:1:11::/64 :: 0 32768 ?
*>3003:1:1:11::/64 :: 0 32768 ?

rl#

r2#show bgp all

For address family: IPv6 Unicast

BGP table version is 6, local router ID is 2.2.2.2

Status codes: s suppressed, d damped, h history, * valid, > best, i - internal,
r RIB-failure, S Stale

Origin codes: i - IGP, e - EGP, ? - incomplete



Network Next Hop Metric LocPrf Weight Path
*>2022:2:2:22::/64 :: 0 32768 i
*>i3001:1:1:11::/64 FE80::C200:8FF:FE10:0

0 100 Oi
*>i3002:1:1:11::/64 FE80::C200:8FF:FE10:0

0 100 07
*>i3003:1:1:11::/64 FES0::C200:8FF:FE10:0

0 100 07
r2#
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